Chem 332, 2005, exam 1 Your Name__ KE Y

1) Provide structures of A, B, C, and D. Mechanismis are not needed. 3 points for each correct answer
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2a) Compound 1 is a stronger base than 2. Provide a detailed but brief (<25 words) explanation. Use chemical
structures to support your argument (10 points)
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2b) Compound 3 is a stronger base than 1. Provide a detailed but brief (<25 words) explanation. Use chemical
structures to support your argument
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3) Circle the correct answer (2 points). Provide a clear and concise explanation (18 points). Use chemical structures
fo support your assignment

o 1 ) NaOEt
E
0 2) HyO*
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~ Only product 1 will be formed oth products will be formed, but 1 will be the jor product
d Both products will be formed, but 2 will be the major product

b. Only product 2 wiil be forned

& Both products will be formed in equal amounts
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4) Quiline a multistep synthesis of 2 using 1 and any other starting materials that contain 3 carbons or less.

Reagents (e.g. PPhg) may contain more than 3 carbons. (24 points)
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5) Provide a detailed, arrow pushing mechanism

(24 points)
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